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Rl olEd 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 4,000 4,000 0
2et-EH| 3,000
-OIAEA M 2= S
3,000,0002 3,000
o= 1,000
TSR HEIIA S 22= 19
1,000,000& 1,000
2 s5=34l 3,720 3,720 0
OZZR2 ¢ HAl 3,720
“CEART DY DX ALY AS2
150@%5,000CH*42] 3,000
-0IAMIEX S S HAANEZ
20,0003 *3M A+ 128 720
202 04l 3,600 4,900 21,300
01 =LHAHI 3,600 4,900 1,300
OolJl2el ge=d
100,000 =3+ 122 3,600
IHEE NsA22e ESME 1,200 5,100 A3,900
= 720
o 480
402 2I2FX=201H 1,200 5,100 23,900
= 720
= 480
02 QI X2 AL EE(OIETHE) 1,200 5,100 23,900
OJEE M=AE2e ESAME
600,000 x2CH 1,200
= 720
[Ea 480
A2 AEE SXAE EXNXE ALY 125,100 761,000 A\635,900
= 68,400
= 21,900
o 34,800
201 er23| 2,000 5,000 /3,000
01 AtR2t2|HI 2,000 5,000 A3,000
Odgt+=H| 2,000
A2 AEE ZXAE XXM DI
=hE =2 500,000 #4042 2,000
402 QI2F X201 & 123,100 756,000 632,900
= 68,400
== 21,900
o 32,800
02 I EASEZ(0IETHR) 123,100 756,000 632,900
OATE AFHE ZXAIE EX XA
123,100,000 123,100
= 68,400
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Rl olEd 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 21,900
s 32,800
OIMIEX] 3XHE =X 2e| 14,000 12,600 1,400
201 er2 3| 14,000 12,600 1,400
01 AtR2te|Hl 4,000 2,600 1,400
OfI5 =] 4,000
-R0 ESBI(EE) 2B FHS LS
2,000,000 x2H 4,000
2 S5=2g4l 10,000 10,000 0
O=32=  HAl 5,000
-0l gTI|(S8) 2ER
5,000,000& 5,000
OAIE2ZEBI= X 5,000
-20 g3I(EE) =2l
5,000,000 5,000
NASEI(GP) MBEX 2 XEAY 6,300 0 6,300
= 3,500
== 1,050
[Ea 1,750
402 212 X201 & 6,300 0 6,300
= 3,500
=S 1,050
s 1,750
02 QI XHEAISE R (01X THE) 6,300 0 6,300
ONASEI(GP) MBEX F2 XEAY
6,300,000 6,300
= 3,500
= 1,050
o 1,750
HOIE XS & Mel(2HF/HDIS8) 11,796,190 10,171,606 1,624,584
= 308,500
[ 338,542
Ea 11,149,148
Meldl Meld 2el 4,263,649 3,044,668 1,218,981
= 228,000
s 160,000
s 3,875,649
HEAE =2 938,460 391,437 547,023
201 2= 256,860 266,637 N9, 777
01 At22t2l] 46,960 64,590 A17,630
Oget=ZH| 11,820
-2925 7L (Y, U2 8)
50,0003 #3042+ 122 1,800
SIEUES 7Y 60,0003 *4JH 2= +62] 1,440
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Hel(82/HoI2)
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SA - B BRA(SH) - HRA - of v e
-g=01, g=J|, IO S ME=
200,000 %122 2,400
-NeIBE 7Y(27,EE S)
300,000 %122 3,600
=40 & XAHX ZIIEM =58
60,0002 + 13| +2CH 120
-EHIEY HIIZA HNEXE FIIBA =+
+8 65,0002 %23 *2CH 260
“HEE UREA 222
300,000 %14 300
NN E ]
250,000 22 500
~EUQAMEY AL Al saz
1,000,000& %12 1,000
~SHSESE FIIZA 242
400,000& 12 400
Oogxz 4,840
-=24171(0.2m) 660,000 *1CH+4 2,640
-2oE™ 550,000 *1CH*4! 2,200
Oo=g=¢g 29,100
-2 A 60,0002« 1 =119 7,140
-=2H| 60,0003 x1H 366 21,960
Oul=H| 1,200
=22FA Y= 150,000 x4 & x23| 1,200
02 S3=gHl 209,900 202,047 7,853
OsE2= & HA 154,344
-AJ10[201E S Sdl 23
50,000~ 1CH* 122 600
—=40 & XX 2
200,000 *2CH 400
-BLE™ 2= 1,500,000 *1CH 1,500
-1E XY 288 800,000 1CH 800
—gmEee BAHHRLS
60,0002 *2CH 120
-HEEH USAHA 100,000 12 100
-1EXE ASKHAl 50,0002 *12] 50
-AFERIEY SHeS 33,0003 x123] 3%
“HOI2HE 2E3(22)
10&+8,700kg1,059H 92,133
-HOI2ME Y30 '/@Elﬁljlg)
53 %2,600kg*1,0597H 41,301
-HOIEME RSS(0HE/A PO*IHHIJIE)
10&%1,600kg*1,059H 16,944
OAIE &I R XY 29,400
-HAZ2AE FA2ell
3,000,000 *23] 6,000
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e A0l MelE 2el (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-CCTV 0& Wi 2 |X2cl]
500,000 +5CH*23] 5,000
-Xot= ZAlE FA2ll
500,000 22 1,000
MO EAAIE K2t
600,000 43 2,400
-ANES SAZe(IME, 288 HHIHE
S) 1,000,000& 128} 12,000
PRI HA U Yo 8oy
3,000,000+ 13] 3,000
ootz 300
S ESIR=T=1] 20002145 £ *302! 300
ORtra | 25,856
~ZH| 2| 1,800 %40 £ %2482 17,85
“2AD|, HEE 47
4,000,000 =2CH 8,000
202 04l 4,800 4,800
01 2LHoIH 4,800 4,800
OMEHIIHE 29 AREA
100,000 x4 * 12 4,800
307 gl2to| & 546,800 30,000 516,800
05 2I2+RIE =S 546,800 30,000 516,800
OXtMXel=ot Hol2 fI& X
316,000,000 316,000
OUgmIl= fI=xel 230,800,000 230,800
401 Al HIZL 01| 130,000 90,000 40,000
01 Al&H| 130,000 90,000 40,000
OoZels & FAE=+ 20,000,000 20,000
OdeMgD| lHgEs =&
20,000,000 20,000
OO SR BISEEZAL
45,000,000 45,000
OWEXE &X & XA HPH =MHF
Ab 20,000,000& 20,000
ONZAIE ESHA L AIHELSA
20,000,000 20,000
OdH=3 HXl wH 5,000,000& 5,000
A2AE 2 2,150,000 2,341,000 191,000
403 X SHMSAH=01H 2,150,000 2,150,000 0
02 SIS0t =S A AEHI 2,150,000 2,150,000 0
OLZAIE 2| A
2,150,000,000& 2,150,000
HEFXCANE 2 164,687 103,977 60,710
201 er2 3| 37,552 28,552 9,000
01 AtR2t2|HI 22,552 18,552 4,000
Odgt==H| 22,552
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M HOI2 A 2 MU (SF3/HOI2)
Rl A0 MelE 2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—=EHA =28 22,552
B =AM 755,300 *20H A #42] 6,043
SRS SHAM
755,300 x1JH 2% 122] 9,064
RIgts SE2A
217,070&3 x1JH 2+ 122 2,605
S 2SI 70,0002 %122 840
AL EE 500,000 42| 2,000
SietetEs g ANEE 7Y (&, 0143
S) 500,000 42| 2,000
2 35244l 15,000 10,000 5,000
OA&EHISTIH 15,000
HEL ALE B 2o
5,000,000& *12] 5,000
“EHES HF Selaay
5,000,000 * 14 5,000
~SEQHUALD Tl &l S44|
5,000,000 * 14 5,000
206 M=l 77,135 45,425 31,710
01 MZH| 77,135 45,425 31,710
%5 2 AR5 FY 77,135
-ANEM (22l 15,0002 %1,500 ¢ 22,500
-2 (Y el) 24,2003 800K 19,360
- 24,200 =800H 19,360
-HHAAFOF 23,5003%70 £ 1,645
-ZH(RAEEY) 12,5502 +800H 10,040
-AE(FE+Ha) 9403 x900kg*52] 4,230
401 AIEHIL2HH] 50,000 30,000 20,000
01 Al 50,000 30,000 20,000
OmE+ XML X%
50,000,000 50,000
HOISXCIAE =3 QoA 61,762 56,654 5,108
201 er23| 2,600 1,820 780
01 AtR2t2|HI 2,600 1,820 780
Oo=2g=¢g 2,600
-SFRXIEEAM A= (A7)
100,000 *13E 23] 2,600
203 HR=&H] 1,500 1,500
03 A=A =] 1,500 1,500
OdgMgDIXeld =H UL R =
300,000 %53 1,500
301 LEetE N = 57,662 53,334 4,328
14 DBt 2 a3 57,662 53,334 4,328
OFLZANRE 24=
78,8803 x247 L x2H 38,967
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Rl A0 MelE 2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S EEENCEE P
118,320 792 x2&H 18,695
ANSS= IHEAE 2 183,440 151,600 31,840
201 er=23y| 41,440 28,600 12,840
01 AtR2t2|HI 34,840 22,000 12,840
Odgt==d| 34,840
-MNERE] BA ==E (Kot K H B
29) 22,000,000 22,000
HHEIRA A 22
150,000 #3235 4,800
a5z 448
670,000& * 122 8,040
2 S22l 6,600 6,600 0
OZ33x2= 2 HMAl 3,600
-AlEE &g 300,000& 122 3,600
OAlZ &8I Xl 3,000
-Xlot== BAIS =XAl2t 2,000,000 2,000
-HOIAE =Xl2el 1,000,000& 1,000
401 Al HIZL S 0HYI 35,000 20,000 15,000
01 Al&H| 35,000 20,000 15,000
OMNESSZUEANE = JHISA
35,000,000& 35,000
403 AXIEHMSAH=0lE 107,000 103,000 4,000
02 SISOt =2 A P E A I 107,000 103,000 4,000
O&E+ A=K 107,000,000 107,000
OHEIAIE EXIALE 765,300 0 765,300
= 228,000
= 160,000
Ea 377,300
201 er23| 1,300 1,300
01 AtR2t2|HI 1,300 1,300
Ol g 2o+¢
100,000& #1312/ 1,300
401 AIEHIZ R HYI 764,000 0 764,000
= 228,000
= 160,000
o 376,000
01 A28l 759,000 0 759,000
OUEMYDI|HE E 2E8H ZEAY
759,000,000 759,000
= 228,000
= 160,000
o 371,000
03 Al 20HHI 5,000 0 5,000
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Rl A0 MelE 2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMERADINEE 2600 ZAAE SO
5,000,000& 5,000
FZad x4 5,344,899 5,281,866 63,033
s 98,042
i 5,246,857
M0l S-S 28 1,149,191 1,123,304 25,887
101 @I24H| 605,969 585,782 20,187
M II2tHIZ22HSE* 605,969 585,782 20,187
OsAEMAI| 23H2)| BB 394,801
-BtE 93,928
JlEs 157,068 x2H+247 77,592
sasuassy
. 157,068 +221 522! 16,33
—BHal 300,873
JlE=s 78,8803 x11E +247 214,317
sasazssy
. 78,8802+ 1124x502 45,120
nS2tald] 3,000 13 »247 9,633
282 S 353,365,000 *X% 31,803
Ogtd=z N&& 128,540
L= 78,880 x5 & 247 97,417
saFuassy 78, BB +52 <502 20,500
-28& 8 117,926,000 %% 10,614
OFY BANsE 61,3
AL=1 78,880 x4 & *1192 37,547
saRussy
78,830 x4 1192 +50% 18,774
-28Zz 56,321,000 *% 5,089
OE2HEAXE PR BX 21,238
AL=1 78,880 12 *247 19,484
-2 19,484,000 %% 1,754
201 et 221,322 208,122 13,200
01 ArR2eltl 201,050 189,050 12,000
OgEt=ZH| 196,050
-SEMSE M 168,000,000 168,000
sgNEs S AN 70,0002 <84 5,600
SAZMAD| 448 LREE NN
25& %200, 00004 5,000
SN A B2 AED MR
300& %10, 0000H 3,000
HRHIIE 2B MR
170&+5,0000H4 850
CHEEIE QEWAD 018 248
50,0002 *123] 600
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el 3¥EE x4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—dEMYD| ZeliiE 2 S olg 2=
NS 2,000,000 *23] 4,000
-28ot*A M 7
80,0002 *50K 4,000
-HolE RHSEBA =8
1,000,000 %52 5,000
ogxz 3,500
-UHgH)I=2 =2538 X
700,000 +5CH 3,500
Oul=s| 1,500
-HOI2 E8SI| 2ADISE 222 2
150,000& x5 & =22 1,500
2 s5=34l 20,272 19,072 1,200
O332= € HAl 19,272
—SelXZ0l SA & HIIMNE=
10,0003 =20~ 123 240
-CCTV & SASXI] HEAHEII1I] EIIA
=14 20,0002 #5501« 12 13,200
—SASAAI HEASI1I| S4lbl
4,000 *50CH* 122 2,832
—-st=HJI=g 2/ 3,000,000 3,000
OAlZ EHIs Xl 1,000
-2 X0 RAE+ 200,000 *5CH 1,000
202 04l 2,400 2,400
01 =LHAHI 2,400 2,400
oMl EYSI| 222 =0
100,000 x2&* 122 2,400
206 M=l 10,000 10,000
01 M=4l 10,000 10,000
O8alE =187 22283 7 (A5
okel 63) 10,000,000 10,000
207 ARl 6,000 0 6,000
01 H1E4HI 6,000 0 6,000
OSgNSE 2oHtd 89
6,000,000& 6,000
301 LEtE N = 2,000 2,000
03 A2 H A0S (XILTHH) 1,000 1,000
OsA=MdIl =2 HIRX MBS
1,200 %69.4MICH* 123 1,000
14 JIEt2 8= 1,000 1,000 0
O] I & EIESs xS
1,000,000 1,000
307 elztol & 100,000 100,000
05 212t S 100,000 100,000
OgxlHII= 2l
100,000,000 100,000
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401 Al HIZL 2018 125,000 140,000 A15,000
01 Al&H| 125,000 140,000 15,000
OX | SEHSI| Z2A5H0C OIS &€X
1,000,000 *5CH 5,000
OMgI| SEHEI| ZAIStHEH £X 120,000
A0 RS ZAHe A&
9,000,000 *5H 2= 45,000
M| REHEI| AP RS
5,000,000 * 1500 2 75,000
405 AtatE = 76,500 75,000 1,500
01 ML ESFSHI 76,500 75,000 1,500
O0|s4l SEHSI| ZAI9H02E #
4,000,000 *15CH 60,000
O0IsAl SHSI| ZAIFHHS BHE HHE
cl 7 1,100,000 1574 16,500
CE2HEAT |2 26,580 26,580
201 er23| 26,580 26,580
2 s5=34l 26,580 26,580
O332= € HAl 2,500
-C2FAX BEZ 2,500,000 2,500
ORI 24,080
“E2F AL 2l # {FR
17,000,000 17,000
“EE2FEAL ARE FY
590,000 * 12 7,080
Ml =B 28 S 3,827,320 3,805,300 22,020
201 et 3| 7,200 6,900 300
02 s3=gHl 7,200 6,900 300
O8832= % HA 7,200
—HEHDIE 2 AXNFH AL
ANEE 15,0002 +30CH* 122 5,400
—dEHDIZ2 2 /AXFHE ALY
=A== 5,000 +30CH* 12 1,800
207 AR 38,000 20,000 18,000
01 A S| 38,000 20,000 18,000
OdEHIIZ =& - 2 HAAH Bt
A 18,000,000 18,000
OdgHII= =& - 2&t - Xl e JAotet
N 29 20,000,000 20,000
301 EtE N = 6,120 2,400 3,720
14 DBt 2 a3 6,120 2,400 3,720
OdgHll= =& - 2L HEHEH EIRIE
=g 130,000 6 x4 3,120
OdgHIIZ =& - 28 LA EIt 2=+
M La= 3,000,000& 3,000
402 QI>F X201 & 3,776,000 3,776,000 0
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el 3¥EE x4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 2IZHRAEALHHI 3,776,000 3,776,000 0
OdgHlIZ =& - 2t Hd= 3,058,500
-—dEHDI2 2,016,100,000& 2,016,100
-S| 1,042,400,000& 1,042,400
OSaSMeDl Hel gz
717,500,000 717,500
A= MalRS 341,808 326,682 15,126
S 98,042
= 243,766
101 @124H| 186,808 186,682 126
= 56,042
[Ea 130,766
MU IIRINZZE2NSES 186,808 186,682 126
OdeHII=Z =cIiE =<0! 186,808
-Jl=s 78,8803 x14H 125 138,040
== 41,412
2 9,628
235204y
78,8802 x14H 27 L 29,817
= 8,945
o 20,872
-28= 1,353,5802 x 14 18,951
=S 5,685
s 13,266
207 ARl 15,000 15,000
NEEEET 15,000 15,000
OSAS2HIIS w4 ofH WY HE 2
9 15,000,000 15,000
307 el2tol & 70,000 70,000 0
= 21,000
o 49,000
05 212t =S 70,000 70,000 0
OgsHIl= f&X2l 70,000,000 70,000
s 21,000
s 49,000
405 AHAHE S 70,000 70,000 0
= 21,000
= 49,000
01 It =S F=H 70,000 70,000 0
OFZHES 2= )| 7Y
35,000, 0002 +2CH 70,000
= 21,000
Ea 49,000
A2 HEE 2,187,642 1,845,072 342,570
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s 2,026,642
HEHI = S 1,227,172 1,003,102 224,070
101 21AH| 536,329 458,867 77,462
M ORNZZ2NSE s 536,329 458,867 77,462
odaMdixeld HeEs JE 536,329
= 83,8802 x 16 247 331,494
-FERLIFrE S
83,8802 * 162 +86& 115,419
-28= 445,843,760 *11% 49,153
-ElX= 83,8803 x30€ « 16 40,263
201 el 517,243 379,635 137,608
01 At2t2ltl 274,283 286,035 A11,752
Odit=3=H| 73,175
-MEHIIS HEZA QAT
100,000 *100H 10,000
-MHEEE +=ESII(PPELY) +&
4002 +8,0000H 3,200
-HEES & SASXD| HIE 222 X
= 2002 *30,0000HK 6,000
-SASMYD =HEII(1204) 7
75,5002 *50K 3,775
-HEES =g 2
150,000 x250 K 37,500
—SASAD| HEAEINI| 2Aelra
4,500,000& »5%+ 12 2,700
-HEY WEENS S (ZEU, Fo2U)
10,000,000 10,000
Oogxz 200,068
—SAHSAD| =M HEAHEID] etz
53,0002 *313CH* 122 199,068
-HEgZS 2EE SRz
500,000 <22 1,000
O=2g=g 1,040
-SHEF HOI= 49N 40t Eotea
=g 130,000 +8& 1,040
2 s5=g4l 242,960 93,600 149,360
OAlE &I Xl 242,960
-HHlEEotE FA2+
2,000,000 *1009H £ 200,000
-SAHSAI| HEAEINI| =24
40,0002 x50« 12 28,320
~dEHI|IZ2 SelotRA RAEs
1,200,000 #5704 2 6,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-SHHEY 2l )| FAE+
720,000 %122 8,640
202 04dl 3,600 3,600
01 2L AL 3,600 3,600
QdgHII= Xl gFR=d
100,000 x3&* 12 3,600
301 22N = 45,000 5,000 40,000
14 JIEt2 = 45,000 5,000 40,000
OB =024 &N & 7Y
10,000,000& 10,000
OgsHll= =88l
2,500,000 * 1490 2 35,000
401 AlZHIZ SO 125,000 121,000 4,000
01 A28l 125,000 121,000 4,000
SelotRA 4X 125,000
-REE &1 21,000,000 #5I1 2 105,000
-8 ey 1,500,000 #5700 A 7,500
-ZAlJt0let £X 2,500,000 *57H 2 12,500
Mg sUlite ZXIXI3 90,000 150,000 60,000
401 AlZHIZ SO 90,000 150,000 260,000
01 A28l 90,000 150,000 260,000
ONgE SUIite ZXIA
90,000,000 90,000
SZEHHYE =H2d= 525,000 510,000 15,000
= 70,000
== 70,000
o 385,000
301 2= 525,000 510,000 15,000
= 70,000
= 70,000
o 385,000
14 0Bt 2a3 525,000 510,000 15,000
OgsHllz =88d=s NS
525,000,000 525,000
= 70,000
= 70,000
o 385,000
eSS d8AI4 &5 295,470 81,970 213,500
201 =3 87,470 59,470 28,000
01 At22t2l] 16,750 15,750 1,000
Oget=ZH| 14,350
-HeEEs HASS(FL 4, UNR S) 2
& 70,0002 x5 543 1,400
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WESE 24 7Y
2,700&*1,500kg 4,050
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10,0002 * 1004 1,000
-MEEE HdEAL 222 72
300,000& * 103 3,000
OIMEE (A, 0AT ) 7
500,000 & *33! 1,500
~ArRIOIED| 2T 1ME B
200,000& =123 2,400
“2A)| PY ZgYaaz S
1,000,000& 1,000
Oul=t| 2,400
B2 (BH0IER) 222 2Y
200,0002 x6H *23] 2,400
2 S=29| 70,720 43,720 27,000
OAE&EHIRXIbI 55,000
-MEEE HdEI| RSB+
1,000, 000& 55 +23| 10,000
-MEE dg9E otdate| 2RINA
1,000,000 *5Z*23] 10,000
- ool MelAld s |XE=
3,000,000& *52| 15,000
~EolAs U M AE)| RXPA
2,500,000& 2543 20,000
Ot e| 15,720
-EgH, XX RFH
1,800 *30 £ =180 9,720
-E8H, XIAXt =2l
2,000,000 *3CH 6,000
401 AlEHIZ 200 37,000 15,000 22,000
01 Al&Hl 37,000 15,000 22,000
OFZHEY &g &H| B+3At
22,000,000& 22,000
OoNzss 8 BL3At
15,000,000 15,000
405 KHaHE S| 171,000 7,500 163,500
01 ML =EEFHSHI 171,000 7,500 163,500
O=240] 7¢ 171,000,000& 171,000
oY &= XA 50,000 100,000 A50,000
= 10,500
= 10,500
= 29,000
401 A& BIZL20HbI 50,000 100,000 A50,000
= 10,500
= 10,500
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